
SAP ABAP table REEXC_PAY_PROG_ACC_DET_X {Account Determ. for Payment Program and Add. Fields (T042I)}

REEXC_PAY_PROG_ACC_DET_X

MANDT [CLNT (3)]

ZBUKR [CHAR (4)]

HBKID [CHAR (5)]

ZLSCH [CHAR (1)]

WAERS [CUKY (5)]

HKTID [CHAR (5)]

UKONT [CHAR (10)]

VKONT [CHAR (10)]

GSBER [CHAR (4)]

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 REEXC_PAY_PROG_ACC_DET_X-UKONT = SKB1-SAKNR 

0..N

{0,1}

 REEXC_PAY_PROG_ACC_DET_X-VKONT = SKB1-SAKNR 0..N

{0,1}

T000

MANDT [CLNT (3)]
 REEXC_PAY_PROG_ACC_DET_X-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 REEXC_PAY_PROG_ACC_DET_X-ZBUKR = T001-BUKRS 0..N

1

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 REEXC_PAY_PROG_ACC_DET_X-HBKID = T012-HBKID 
0..N1

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 REEXC_PAY_PROG_ACC_DET_X-HKTID = T012K-HKTID 

0..N

1

T042E

MANDT [CLNT (3)]

ZBUKR [CHAR (4)]

ZLSCH [CHAR (1)]

 REEXC_PAY_PROG_ACC_DET_X-ZLSCH = T042E-ZLSCH 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 REEXC_PAY_PROG_ACC_DET_X-WAERS = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 REEXC_PAY_PROG_ACC_DET_X-GSBER = TGSB-GSBER 

0..N

{0,1}


